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kernel lock

Another app is currently
holding the xtables lock.
Perhaps you want to use the

-w option?



P |ptablesfi FLECATEE

¥ FEIRSER |, &4 servicetEkube-servicesXI iz 18&chain



+ E3friptablesfiNAIASFE

RIRELLIRTEMRS ?

K service (40K ¥l ) , igh0—sRiptablesfiiM , #E/J1T1min

20K service ( 160K #1l] ) , i&hN—sziptablesfiN , $EAI5h




. |ptablesEHAMERIFTSEL
" TPSHlzf



i K8S Scalability

] 5000 Nodes

I 1000 Services ? ?



IV E S

| (ERRREIEARiptablestiy

1IPVS






|PVSSCIServicethaZ iy




t {TZARRIPVS (IP Virtual Server )




i IPVSI{ER




P IPVS=FfEE AR,




i DR



i Tunneling



i NAT



P IPVSIURESRE &




| PVSSCIKubernetes Service



i Kubernetesxz 15 IPVStET(




Iptables VS. IPVS
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ServiceE#{ 1 5000 20000

Rules&E#1 8 40000 160000

12 hN15%IptablesfiiMl 50 us 11 min 5 hours

I IN15RIPVSERN) 30 us 50 us 70 us




[service# 1 1000 5000 10000] 25000 50000
[B5%% iptables, first 66.6 64| 50 15 0 0
[B5%8 iptables, last 66.6 56) 38.6 6 0 0
525, 1PVS  first 65.3 61.7 53.5 43 30) 24
[B5EE,IPVS, last 65.3 55.3) 53.8 43.5 28.5 23.9
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